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c) (i) Descdbe the IP acldressing procedure.

r All Questions 'l'iime allorved: :l'wo, llr ours

a) 'l'he Intemet conneols maDy nctwolks oach ol which runs a protocol l( nou,n ts l.ap/Ip
(Tranvdssio' c.'trol protocol/ Internet protocor). Draw the t'1ock diagriLrl to r.ii:scribe the
reiation oI IP. TCP an.1 ULIP (Llser Datagram protocol) and explaill vatous pritocols
involved in each layer. {l -; i

b) (i) Dra\r the lPV6 pachet lormat and cxplain each component <)fthis pacliol l2{)}
(ii) Explain most important changes introduccd in Tp V6 ovcr IpV4. i l:i )
(iii) Brir:11y describe a r.vay to iDtegrare lpv6, hosts ilrto lpv4 \\,orld. I I j l

.,t

l :01
(ii) Suppose an lnlenct Service Provider (lSP) ma), it-rell have been all).rated lhe a(lclress

blork 210.20.32.0/iS. Thc ISp, in turn r:ould dii.ide i1s adcl.ess blo,:L into eigirr :;rrailer
address blocks of equal sjzc and give each address blocks to eight elrltenizilti,us ramecl
Org0" Org1, Org2" up to OrgT fhat are supforlecl by this ISp. IiJentill iire ad,lr,rss [ocks,
whioh ate allocatcd to each organization. t25'

Q2

a) (j)Listandb efl) descr ibe the serviccs plovidecl by Domain Nanre SystelrLl (DNS ). { t -i }
(ii) Suppose the host esrr. ac..Zk desires the Ip adrltess of gaia. cs rirnas.s. r-.dr;r Also

suppose thal local ;ramc servel lor esn.ac.-1-k is dns.acr.Ift anii lllat an
authoritalive name selver lor gaia.es.uaras,s. eldu is alrrs. ult{a[!!s. edfi. l]rrlajn
how the host e.sn. ac. -Zk cnn gct the Ip addLess of rraia. ca. urnasrlr. edl,

{lsl
b) (i) Desclibe Simple l\4ail'l'mnsfer protocol (Slll.p) of an E-mail stslenl. ll:,)

(ii) Describe-each offlre following mail access protocols: {2 X L:r0}
POP3

IMAP

(iii) Describe Weh-based l|-uail System in yolr own $,!rds. it 5 j

(iv) Suppose Raman haing a web-based E-maiL account scnds a mersrrge 1., .lir'r, (!, *ho
access ltel mails {iom hq mail server using pop3. Discus:i how t}e mess:,rge moves
ftom Ramqn's host to Sirlra,r host. your answer should inchide tht serles of
application-layel protocols that are used to move the messirge betwc(:l the t\\,. h,:,sls.

{rr}
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Q3

(j)

a)

b)

c)

cL)

lvhat am the main diffqences between HTML and XHTML?

!'itate the use of each of the following tags in XHTML:
(i) <link>
(iD <inPut>
(iii) <base>

(iv) <style>
(v) <fiame>'

Define the telm "interactive multimedia",

{sx4=

Desc b4 how multimedia can be applied in education and faining Discuss the adr

rLnd dis!.Jvantages ov", -o." coou"tttoittul methods when it is applied in this area {1

The LerLrpel-Ziv-Welch (LZW) coppression algorithm replaces,string of
sringle code. Give the LZW compression algorithm in its simplest form'

l{trn tber LZW compression algorithm for the string: /WED /WE /WEE

creating the corresponding comprcssion table.

uompart and contrast the BMP and GIF image file fonrBt

{

/WEB
{

{

Q4
iD List the important characterislics of clients and servers' {

b) Define lhe term Socket in connection Vvith process communication across a network

{,) llescritxr 1he purpose of the class Socket and Serversocket defrned in the Java

java,nct and outline how it can be used. I

l--'onsidcr the followirrg clienVserver application scenario for fCP protocol:

A clent reads a line from lts standard input (keyboard) and sends

out its socket to the server.

Th€r server reads a line from its connection socket'

The sierveT converts the line to uppercase'

The server sends the modified line out its connection socl(et

The client reads the modified line from its socket and prints

standard output (rnonitor).

r rite cl.ient/server Java program pair for a TCP implementati(n ol the above z

ffr" 
"fi""t, 

program is nanrled as' TCPClient'iava and the.server program is

iribi",:r""1:.i". irt" user al the client may then use the application to send a li e

receive ir r:apitalized version ofthe line.

Whal uill happen if you run TCPClieni on one host before TCPServer on

Uive rils{rns for your answer'

d)

to the cl

the line o


